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Instructions for Candidates

1. Write your Roll No. on the top imrﬁediately on receipt of this question paper.

2. Al questions carry equal marks,

3. Answer any five. |

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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Explain the income method of measuring National Income. What are the
precautions that economists observe while measuring National Income using this
method ? (15)
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2. (a) Explain the consumption function in detail. How can the savings function be
derived from the consumption function ? . (72)
(b} (i) Supposing C=10+0.6Y + 0.03 W
I=100; W =1000. I = Investment; W = Wealth.
What are the equilibrium levels of GDP (Y),

Consumption {C) and Savings (S) (4)

(ii) Suppose W increases by 50% Recalculate Y, C, & S. (3%%)
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3. (a) Whatis an investment multiplier ? Is it related to MPC ? Explain precisely

how ? (7'%)

(b) Does aRs. 100 crores increase in government spending and a Rs. 100 crore
decrease in tax have the same effect on the budget deficit ? Elaborate. Which

in your view would be better policy to stimulate the economy ? (7'4)
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How do changes in money supply affect the interest rate in an economy ?

(15)
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If there were a society where there was no money, what would be the problems ?

How are they resolved through money ? (15)
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“Banks create money out of thin air”. Explain. (15)
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How 1s National Income determined in an open economy ? Explain through a

suitable diagram in a four sector economy. (15)
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Write short notes on any two :

() Speculative demand for money
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(i) Paradox of thrift

(iii) Quantity Theory of money
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